Enrollment No: Exam Seat No:

C. U. SHAH UNIVERSITY

Winter Examination-2019

Subject Name : Java Programming
Subject Code : 2TE05JVP1 Branch: Diploma (CE)
Semester : 5 Date : 25/11/2019 Time : 10:30 To 01:30 Marks : 70

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Q-1 Attempt the following questions: (14)
a)  Which of these operators is used to allocate memory for an object?
(i) malloc (i) alloc (iii) new (iv) give
b)  What is the return type of Constructors?
(i) int (i) float (iii) void (iv) none of the mentioned

c)  If super class and subclass have same variable name, which keyword
should be used to use super class?

(i) super (i) this (iii) upper (iv) classname
d)  ArraysinJava are implemented as?

(i) class (ii) object (iii) variable  (iv) none of the mentioned
e)  What is the stored in the object obj in following lines of code?

box obj;

(i) Memory address of allocated memory of object

(i) NULL (iii) Any arbitrary pointer (iv)Garbage
f) Which function is used to perform some action when the object is to be

destroyed?

(i) finalize() (ii) delete()  (iii) main() (iv) none of the mentioned
9) Using which of the following, multiple inheritance in Java can be
implemented?
(i) Interfaces (i1) Multithreading
(iii) Protected methods (iv) Private methods
h)  If aclass inheriting an abstract class does not define all of its function
then it will be known as?

(i) Abstract (ii) A simple class

(iii) Static class (iv) None of the mentioned
)] What would be the behavior if this() and super() used in a method?

(i) Runtime error (i1) Throws exception

(iif) compile time error (iv) Runs successfully
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To compile a Java program, command is used.

(i) javac (i) java (iii) compile (iv) debug
To inherit from a class keyword is used.

(i) inherits (i) extends (iii) uses (iv) implements
The old name of Java was

(1) j language (i) oak (iii) Java script (iv) none of these
Full form of JDK is

(i) Java development kit (i) Java definition kit
(iii) Java data kit (iv) Java declaration kit

What is byte code in Java?

(i) Code generated by a Java compiler

(if) Code generated by a Java Virtual Machine
(ii1) Name of Java source code file

(iv) Block of code written inside a class

Attempt any four questions from Q-2 to Q-8

Q-2

Q-6

()
(b)
(©)

(@)

(b)

()

(b)

(@)

(b)

(a)
(b)

(@)
(b)

Attempt all questions

List all Java Buzzwords and explain Java Buzzwords in brief. (07)
What is garbage collection in Java? (02)
Write a java program to check whether a given number is even or odd. (05)
Attempt all questions (14)

Explain use of final class, final method and final variable in Java with
suitable example.

What is inheritance in Java? Explain multilevel inheritance with suitable
example.

Attempt all questions (14)
What is Constructor? What is constructor overloading? Explain
parameterized constructor with suitable example.

Explain dynamic method dispatch with suitable example.

Attempt all questions (14)
What is method overloading and method overriding? Explain difference
between method overloading and method overriding with suitable
example.

What is an abstract method and abstract class in Java? Explain in detail.

Attempt all questions (14)
Explain use of this keyword and static keyword with suitable example.

What is a package? How to create a package in Java? Explain with an
example.

Attempt all questions (14)
What is an interface in Java? How it supports multiple inheritance in

Java? Explain with suitable example.

Explain exception handling in Java. Also explain try, catch, finally,

throw and throws keywords With suitable example.

@
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Q-1

()
(b)
(©)

f)

9)

h)

Attempt all questions

Write a program to display the bytes of a file in reverse sequence. (06)
Provide the name of the file as a command line argument.
What is a stream? What are the similarities and differences between  (04)
character and byte streams?
Explain thread life cycle in brief. (04)
Attempt the following questions: (14)
w052 HIZ AHILA slonalell 12 vl s20 wturedel Guallol alad 82
(i) malloc (ii) alloc (iii) new (iv) give
sog 520l 2ol Usi: 9 82
(i) 8e (i) sAle (iii) AABS (iv) G §¢5 otell
%l YUR S Vol AUSALU ] ol UMlol AAUA B, Al YUR AL
atuRall HI2 sl Slad atudl Agn?
(i) super (i) this (iii) upper (iv) sclallH
ostell Hi AR ALl A 8N scAHL v B?
() sl (i) vos2 (iii) AAAUA  (iv) GAM A 58 ot2ll
ol Aell Slsoll cleetil obj oBse i 9 AUARA B?
box obj;
(i) WoBs2all slndet AHIlo] AU ARty (ii) ol
(iii) SlesuL wel2l3 Weoe? (iv) URA%
Wos2all otlal 5 US U2 Fecls (5l sal 12 sl §52lotall UL
salH AULA ©?
(i) finalize() (i) delete() (i) main()  (iv) A ¢ ol
ostcllil ol Aot el s2ulell GUloL 53l H@RUA SodResd @lo] 531 2sta
8?
(i) 8o2R3A (i) MR @St (iii) YI2s2s AU (iv) UleAs NausA
ol Ao se Sl cllRA ALl SAM Aol AHIH §52t A (35180t 52Al
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A2fl, Al A 3% uLL 82

(i) Rogs2 (i) Qe se

(i) RRs scud (iv) GeAM d 58 ot2ll

ol It () Wl YUR () S5 AASHL GUAHL AcMi A Al doj cclot 9
o2

(i) Rot2ABH AR (i) A% AsUALLet

(iii) SPUBA 21U ARR (iv) et ASO

tall YLUH ASEot, WIE A GUAoL UL B.

(i) sl (i) el (iii) 1B (iv) Botal
sclHil Sodile sel $latdall GUADL sl Hl WA
8.

(i) Sod3lan (i) Asu2osU  (ii)YRU  (iv) SrudR2A
ostcllo] o] otlH &d

(i) el (i) (i) ot e (iv).otol
JDK of Ayl 23U ®

(i) *stell Sacdunee (32 (ii) ostell 3l et Sle

(iii) ostel 32t (32 (iv) »tcll (SscR2let (52

lcllHl cllee 8lS 9 §2

(i) el SPUBER gl UEL $AAA 815

(ii) el ARfAUA Hlot Gl ot 5A SIS
(iii) L VA 815 L8] oM

(iv) S ofl BiE AR Slsoll 6CAlS

Attempt any four questions from Q-2 to Q-8

Q-2

Q-3

(@)
(b)
(©)

(@)

(b)

Attempt all questions

ol ostell el uoll YR clotll e ostell sl ual AR LAMT UM, (07)
osteltHi duGles sAsalet 9 B? (02)
WU oledR Bclot B 5 3S B o USRS HLS el YLaUH Al (05)
Attempt all questions (14)

Al ML $LEAC SALR, $L8olEt AUS Wal $lEalc AZRAGEAA GUADL AU
GELSML AL UM
slcllMl SodReo 9 B7? Ao GELERQL U HRAAA SodRaot AHNIA
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Q-4

Q-5

Q-6

Q-7

Q-8

(@)

(b)

(@)

(b)

(@)
(b)

(@)

(b)

(@)

(b)
(©)

Attempt all questions (14)

so252? WA 9? 50252 WMARAUSIL 9 B? WRAM2ABSNAS S5

Al BELEWL UL UMt

slaletlMs AUS (SRUARA 010U GELSL UL AH3LA.

Attempt all questions (14)

NS W ARAUSIL Aol NS A cARAB(S0L 9 B? AaUs W ARAUSIL wal NS

BUARAB(SIL LA dAgleldal 202U BELSRQL UL AHALAl.

oLl Mo s AAUS ol Wos2 SAlY 9 B? ([Qolcallr UHsal.

Attempt all questions (14)

2002 GEleR0L U LU Slad ua (3 Sladall GUuAoL uHAl.

Wer 9] B2 ostalldl Uy cll A olotialg? GELERLL U AHS AL

Attempt all questions (14)

Ll Bo2¥U 9 B? A il HIRUA BodIlactal 3l Tla Ae 52 B2

A0 GELS UL AH .

ostallHl WsA 2Ll dos(Adl UMl 20U GELSNL AU 218, 33U, sleSalcll,

gl A DA Slady ueL Ml

Attempt all questions

AR sHHL sL8cotl sltsed YEQld sl HIZ 3ls Wl Avl. Mo (06)

Aot el d3l} S8 ol YElat 5.

WM 9 B2 3522 wA 162 F11 LA AHlotcll AR dAsleld 9 B (04)

A5 ASs WASA A AR LAM AHAAL. (04)
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